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However from the above graph, there are two other roots between x=-1 and x=0 or [-1,0].Below is 

an image of the graph that has been zoomed in to locate the other two roots. 

 

 

 

I can see that the two other roots specified on the graph above have been missed by the Decimal 

search method. Thus I can conclude that the Decimal search method has failed in this instance. 
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The table below shows the location of the three roots. Each root is highlighted in a different 

colour. 

 

 

The graphs below show the Newton-Raphson iteration for the function. This has been done on 

Autograph, with nx  = 0 ( the starting value) 
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-0.3622(as  

shown in 

the table ) positive 

negative 

-0.3609 (as 

shown in the 

table )  
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If I use the Newton-Raphson iteration feature on Autograph when nx = 0, it appears as divergent 

instead of the value where the tangent hits the x axis .Therefore the tangent of this function does 

not hit the x axis at a particular value, hence the word divergent appearing. The method will draw a 

tangent at -2, and then try to find the x axis. However it will fail as this line (the tangent) is parallel to 

the x axis. 
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